N & o & AF &2 H Ml A
012HE Z0A LBEIH JIEISEEN ASFUD ~ ASFL D
SN ASFD
HH: S0lE MEOIY 23
ool sE MBEHY X4 (Erol: &2
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 glggf; HRs2
A=F=81 86,694,415 70,112,185 16,582,230
= 26,835,000
= 42,513,000
& 17,346,415
SOE MEIIY 2B 26,820, 167 24,840,390 1,979,777
2 26,811,000
= 9,167
s&E d3sd =4 26,820, 167 24,840,390 1,979,777
z 26,811,000
= 9,167
SEMEEATY|(SrR) 9,147,000 8,612,000 535,000
= 9,147,000
403 THXISHHI S XHE 0 B 9,147,000 8,612,000 535,000
z 9,147,000
01 MXI ST =L E 9,147,000 8,612,000 535,000
OS4=4EXY SEMHBEFY 9,147,000
= 9,147,000
SEMEEHATH(SAER) 16,197,000 13,001,000 3,196,000
= 16,197,000
403 XXM S X201 ™ 16,197,000 13,001,000 3,196,000
= 16,197,000
01 AtXIEH X2 22 16,197,000 13,001,000 3,196,000
OYBHS MO EXS SEMHHHFY| 16, 197,000
z 16, 197,000
HANS T (Hors) 185,000 2,212,000 A2,027,000
z 185,000
403 XX &M S =01 & 185,000 2,212,000 22,027,000
& 185,000
01 AXIEXHA2E X 185,000 2,212,000 22,027,000
OS%=4EY HANGSEH 185,000
= 185,000
HANISZTE(SAER) 1,282,000 1,005,000 277,000
= 1,282,000
403 REXISHHI S XH 0| H 1,282,000 1,005,000 277,000
z 1,282,000
01 RtXIEH 2L X 1,282,000 1,005,000 277,000
OYBHSMO{EXS HANDSEY 1,282,000
= 1,282,000
SEXNS g 9,167 10,390 AT,228
202 o4l 9,167 10,390 A1,228
01 =2 A b 9,167 10,390 N 1,223
OZFYEBY T4 F7 5,500
AL BRATHY =7 3,667




SN ABFe
HE: sHERNSX Y
Sl S0IE FeHE (e @8
_ _ _ Muo
SA-BH.C(BH) - HRAY - B O A+ 24 il i~ o Rz
SOlEFHS RIS A 6,300,000 6,300,000 0
S0lE FepY 6,300,000 6,300,000 0
S01E FeHY 6,300,000 6,300,000 0
501 EX+2 6,300,000 6,300,000 0
02 ESHSBIIDEN 6,300,000 6,300,000 0
OSHEZLNTBNS 6,300,000
ZN&AMS L XN 53,546,033 38,940,210 14,605,823
= 26,835,000
3 15,702,000
= 11,009,033
=N MBI 3,792,333 5,137,777 A1,345,444
3 2,950,000
= 842,333
ZNSPNL (SAESR 1,593,000 1,749,000 156,000
3 1,593,000
403 X+ X SRS KH2 0] & 1,593,000 1,749,000 156,000
3 1,593,000
0f HXISHH RS E 1,593,000 1,749,000 156,000
OUBHS A ERIS F=HEL N A 1,593,000
Z 1,593,000
ENHANL (ZER) 1,357,000 2,898,000 A1,541,000
3 1,357,000
403 KX EHH S K20 & 1,357,000 2,898,000 A1,541,000
= 1,357,000
01 XX SHHI X2 2 & 1,357,000 2,898,000 A1,541,000
OZANEAZHRY =HBLMS 1,357,000
= 1,357,000
OISCHR2HE It D) 300,000 300,000 0
403 KX EHH S K20 & 300,000 300,000 0
01 XFXISHRIXHZ 2 & 300,000 300,000 0
OOIECHR2HE JtRI| 300,000
AL 2RSS 184,000 150,000 34,000
403 Xt X SRS KH 0] & 184,000 150,000 34,000
01 KX SR XH=E X 184,000 150,000 34,000
OAILI = 2T Y 184,000
ZHMEEY N 358,333 40,777 317,556
201 Lur2 Y| 40,000 20,000 20,000
01 ALR eIt 40,000 20,000 20,000
CEERELTETICE 10,400
OBEFUIBAMEIN =X 6,000




SN

A=z

M FHSEIMNSE L X9
el EHMESANM (cel @l
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
o=s&il=s 22 28 FA 3,600
OZd&ARL-AHFZ AAMAH 29 20,000
202 (4 Hi 18,333 20,777 N2,444
01 2L I 18,333 20,777 N2 ,444
OAHEY2REZ 5,500
OFHAREX 7,333
OCI XL A AlME=X 5,500
403 XX S S K20 300,000 0 300,000
01 MIXIEMAZ2E X 300,000 0 300,000
OFHEZMH(sHE HOHEHI) 300,000
NSMED | BIAIE &5 49,753,700 33,802,433 15,951,267
= 26,835,000
= 12,752,000
& 10, 166, 700
LACSSH(HR) 4,650,000 4,050,000 600,000
= 3,450,000
= 1,200,000
403 XX SH M S K201 A 4,650,000 4,050,000 600,000
= 3,450,000
== 1,200,000
01 XM Z2E X 4,650,000 4,050,000 600,000
OSx4ENY AESEY 4,650,000
= 3,450,000
= 1,200,000
ACSEH(sAER) 10,902,000 7,300,000 3,602,000
= 9,302,000
= 1,600,000
403 XHXISHHSA20| A 10,902,000 7,300,000 3,602,000
= 9,302,000
== 1,600,000
01 AEXIEHHI X2 2 & 10,902,000 7,300,000 3,602,000
OLBIsAMHEXNE AESEH 10,902,000
& 9,302,000
= 1,600,000
FoH 22 REFBIYES SEINE(=21) 26,835,000 19,800,000 7,035,000
= 26,835,000
403 XX S S K201 ™ 26,835,000 19,800,000 7,035,000
= 26,835,000
01 AEXIEHHMI A2 2 & 26,835,000 19,800,000 7,035,000
OFstildsRAYFHASE S HE 26,835,000
= 26,835,000
N EHEAE XIS 7,366,700 2,652,433 4,714,267
201 et AH| 1,200 1,200 0




EEES
CEHEENA L TSN
D NG MED|UAIY BB

SMN-HHM .. AHA(SH) - MRAY - BES Aol a4 Hlw &2
- co=m s IR ° . (= (=3 =5 0:”/|l|,% Lsa

01 At 2teltl 1,200 1,200 0
OaxEs HELYARARY =¢ 1,200

202 odd| 5,500 6,233 AT33

01 SLHA b 5,500 6,233 AT33
OXNgiy sotEd & &It 3,000
OLNIEIAHE HRFA 2,500

403 XXM S X201 M 7,360,000 2,645,000 4,715,000

01 AXI &SN A2E X 7,360,000 2,645,000 4,715,000
Ok ZH2=2 3 EH 100,000
o=Z=2l =9 A3 FH 100,000
OTCIINE =HEANMNS 100,000
Oxm2 =0 =JAAMNH X2 1,000,000
oits=Z& Zl 5,640,000
Os0HE Maez 2 542 220,000
OOtIME=Y =0l HOAIL 200,000

HHSAZY (ASFAD) 28,215 31,565 A3,370

Jl2&l 28,215 31,585 A3,370

Sh2 Jl2Ay) 28,215 31,585 A3,370

201 Ler2g | 21,015 23,425 A2,410

01 At 2teltl 21,015 23,425 A2,410
ORMZZE AtR2teld] 21,015

202 odd| 7,200 8,160 A 960

01 SLHA b 7,200 8,160 A 960
FHM2E SUHHLI 7,200




